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CHEMISTRY

BOOKS - CENGAGE CHEMISTRY

EQUIVALENT MASS

1. When 0.30 g of a metal is dissolved in excess

mass of dilute hydrochloric acid, 280 em?® of


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fd3FjgJ0zQCj

hydrogen is liberated at STP. Calculate the

equivalent mass of the metal.

o View Text Solution

2. An oxide of a metal contains 75% of the

metal. Calculate its equivalent mass.

o View Text Solution

3. About 0.54 g silver is dissolved in nitric acid.

The resulting silver nitrate in converted into


https://dl.doubtnut.com/l/_fd3FjgJ0zQCj
https://dl.doubtnut.com/l/_E8DTVstqtFXU
https://dl.doubtnut.com/l/_CjKAT8bxW4yF

0.7175 g silver chloride by the addition of
common salt. Calculate the equivalent mass of

silver.

o View Text Solution

4. 1.08 g of copper displaces 3.67 g of silver
from a solution of silver nitrate. Find the
equivalent mass of copper.(equivalent mass of

silver = 108)

o View Text Solution



https://dl.doubtnut.com/l/_CjKAT8bxW4yF
https://dl.doubtnut.com/l/_2VZ6wfweN0Ky
https://dl.doubtnut.com/l/_zLfFk75YfhK1

5. 795 g of a cupric oxide is obtained by
oxidising 6.35 g of copper 0.318 g of copper is
displaced by 0327 g of zinc from copper
sulphate solution. Find the equivalent masses

of copper and zinc.

° View Text Solution

Worked Examples

1.2 g of sodium hydroxide is dissolved in water

to get 100 cm® of the solution. Calculate the


https://dl.doubtnut.com/l/_zLfFk75YfhK1
https://dl.doubtnut.com/l/_hhXuFxa9ZmfD

normality of the solution.

(Equivalent mass E of NaOH = 40)

° View Text Solution

2.1.176 g of sulphuric acid is present in 200 m
of its solution. Calculate the normality of the
solution.

(Equivalent mass of sulphuric acid = 49)

o View Text Solution



https://dl.doubtnut.com/l/_hhXuFxa9ZmfD
https://dl.doubtnut.com/l/_boSBAFiwRNdG

3. 19.6 g of Mohr's salt is dissolved in 2.5 L
solution. Calculate the nnormality of the
solutuion.

(Equivalent mass of Mohr's salt = 392)

° View Text Solution

4.3.15 g of dibasic acid is present in 500 mL of
its 0.1 N solution. Calculate the molecular mass

of the acid.

° View Text Solution



https://dl.doubtnut.com/l/_yY3yZxbgYXn8
https://dl.doubtnut.com/l/_vRqTVTQAcX3u

5. Calculate the mass of solution carbonate
required to prepare 250 mL decinormal

solution.

° View Text Solution

6. Calculate the molarity of the solutino

containing 4.9 g sulphuric acid in 1L solution.

o View Text Solution



https://dl.doubtnut.com/l/_vRqTVTQAcX3u
https://dl.doubtnut.com/l/_7kaPfuuYoCki
https://dl.doubtnut.com/l/_6ShwNcw200HD
https://dl.doubtnut.com/l/_Jxs5VeSjHXll

7. 0.5925 g of potassium permanganate is
dissolved in 250 em?® of its solution. Calculate

the molarity of the solution.

o View Text Solution

8. Calculate the molality of a solution
containing 0365 g of hydrochloric acid

disssolved in 100 g of water.

o View Text Solution



https://dl.doubtnut.com/l/_Jxs5VeSjHXll
https://dl.doubtnut.com/l/_RmLnNzAbe39c

Mandatory Exercise Exercise Set |

1. Calculate the volume of hydrogen liberated
at STP when 3 g of a metal is completely
dissolved in dilute sulphuric acid. (Equivalent

mass of the metal is 9)

o View Text Solution

2. Calculate the percentage of hydrogen in the
hydride of an element. (Equivalent mass of the

elements is 12.)


https://dl.doubtnut.com/l/_Q7oUOw5ouz73
https://dl.doubtnut.com/l/_q6BgGL5jhAAt

o View Text Solution

3. The mass of a metal, when heated with
excess mass of oxygen, increases by 50%. Find

the equivalent mass of the metal.

o View Text Solution

4. 013 g of aluminium displaces 047 g of
copper from copper sulphate solution. 013 g

of hydrogen is displaced by 117 g of


https://dl.doubtnut.com/l/_q6BgGL5jhAAt
https://dl.doubtnut.com/l/_7RGICiD9Yxt9
https://dl.doubtnut.com/l/_jlQag6XqyenF

aluminium. Calculate the equivalent mass of

copper from this data.

° View Text Solution

5.0.398 g a metallic oxide, when heated with a
current of hydrogen, gives 0.09 g of water.

Calculate the equivalent mass of the metal.

° View Text Solution



https://dl.doubtnut.com/l/_jlQag6XqyenF
https://dl.doubtnut.com/l/_lVpzRhk5HmFf

6. The chloride of a metal contains 52.85% of

metal. Calculate its equivalent mass.

° View Text Solution

7. Calculate the mass of the metal of
equivalent mass 9 required to get 8.9 g of its

chloride?

° View Text Solution



https://dl.doubtnut.com/l/_aoN3gab4sjvd
https://dl.doubtnut.com/l/_2XH7XLfJZDPl

8. 9.525 g of copper displces 32.4 g of silver
from a solution of silver nitrate. Find the
equivalent mass of copper. (Equivalent mass of

silver is 108.)

° View Text Solution

9.2.16 g of a metal oxide, on heating, gives 112
cm? of oxygen at STP. Calculate the equivalent

mass of the metal.

° View Text Solution



https://dl.doubtnut.com/l/_gmS8fZWfKQJe
https://dl.doubtnut.com/l/_dXyW2CyCMvKA

10. 1.201 g of Zn gives 1.497 g of zinc oxide on
treatment with nitric acid and subsequent
ignition. In a second experiment, 0.527 g of Zn
displaces 0.513 g of copper from a solution of
copper sulphate. Calculate the equivalent

mass of copper and zinc.

o View Text Solution

1. 0.64 g of silver is converted into its

chloride. Mass of chloride obtained is 0.85 g.


https://dl.doubtnut.com/l/_dXyW2CyCMvKA
https://dl.doubtnut.com/l/_4tmXZhPvutCO
https://dl.doubtnut.com/l/_bO8IcSHpImza

Find the equivalent mass of silver. (Equivalent

mass of chlorine is 35.45.)

° View Text Solution

12. Equivalent mass of an element is

A. always fixed

B. always a whole number

C. atomic mass/valency

D. atomic mass X valency


https://dl.doubtnut.com/l/_bO8IcSHpImza
https://dl.doubtnut.com/l/_YvJrR02Sqsgw

Answer: C

o View Text Solution

13. The mass of 22.4 dm?® at STP for any gas
gives its

A. equivalent mass

B. atomic mass

C. vapour density

D. gram molecular mass


https://dl.doubtnut.com/l/_YvJrR02Sqsgw
https://dl.doubtnut.com/l/_7c0DyfuGFJ4S

Answer: D

o View Text Solution

14. An oxide of a bivalent metal contains 40%,

by mass, of oxygen. The atomic mass of the

metal is

A. 12
B. 24
C.60

D. 40


https://dl.doubtnut.com/l/_7c0DyfuGFJ4S
https://dl.doubtnut.com/l/_DgPe2gpwtycn

Answer: B

o View Text Solution

15. 1 g of hydrogen combines with 80 g of

bromine, and 1 g of calcium combines with 4 g

of bromine. The equivalent mass of calcium is

A 4

B.40

C. 20

D. 80


https://dl.doubtnut.com/l/_DgPe2gpwtycn
https://dl.doubtnut.com/l/_Q1jT0ByPO8ve

Answer: C

o View Text Solution

16.3.15 g of metal oxide is reduced to 1.05 g of

the metal. The equivalent mass of the metal is

A.6

B.8

C.4

D.2


https://dl.doubtnut.com/l/_Q1jT0ByPO8ve
https://dl.doubtnut.com/l/_9SATtQOC7LnQ

Answer: C

o View Text Solution

17. The equivalent mass of Sn in SnCl,y is

(atomic mass of Sn =119)

A. 119

B.59.5

C.29.75

D. none of these


https://dl.doubtnut.com/l/_9SATtQOC7LnQ
https://dl.doubtnut.com/l/_82keE67tFIGi

Answer: B

o View Text Solution

18. The equivalent mass of Al in Al,O;3 is

(atomic mass of Al = 27)

A. 27

B.13.5

C.9

D. 52


https://dl.doubtnut.com/l/_82keE67tFIGi
https://dl.doubtnut.com/l/_1sZnJDhwldKg

Answer: C

o View Text Solution

19. When 6 g of magnesium reacts with excess

mass of acid, the amount of hydrogen

liberated will be

A.O5g

B.10 g

C.2g

D.4¢g


https://dl.doubtnut.com/l/_1sZnJDhwldKg
https://dl.doubtnut.com/l/_XdbVu3pw7C4c

Answer: A

o View Text Solution

20. How many molecules are present in 1

equivalent of hydrogen?

° View Text Solution

21. What is the equivalent volume of oxygen at

N.T.P?

| 8 l


https://dl.doubtnut.com/l/_XdbVu3pw7C4c
https://dl.doubtnut.com/l/_79yoA2e2SyNF
https://dl.doubtnut.com/l/_C2UQvz56waIL

22. The equivalent weight of a metal is 12.

What is equivalent weight of its oxide?

o View Text Solution

23. 0.2 g of oxygen and 3.17 g of a halogen
combine sepaartely with the same amount of
a metal. What is the equivalent weight of the

Halogen?

o View Text Solution



https://dl.doubtnut.com/l/_C2UQvz56waIL
https://dl.doubtnut.com/l/_Tfc4D76puADj
https://dl.doubtnut.com/l/_00b5uI7ciYgg

24.1f W, and W, are the equivalent weight of
two reactants in any reation, having their
equivalent weights E; and E5 respectively.
Which of the following option is correct?

A. W1E1 — W2E2

B.W1Ey, = WyLE,

C. W1W2 — ElEz

D. All

Answer:


https://dl.doubtnut.com/l/_00b5uI7ciYgg
https://dl.doubtnut.com/l/_UcOV3pFERiiP

° View Text Solution

25. If 0.5 equivalent of H5S0, undergoes
complete dissociation. What will be the

number of equivalents of H © and SOZ_

° View Text Solution

26. Equivalent weight of sulphur in SCI; is 16,

whart is the equivalent weight of S in SyCly?

o View Text Solution



https://dl.doubtnut.com/l/_UcOV3pFERiiP
https://dl.doubtnut.com/l/_rgWQaLd47lKI
https://dl.doubtnut.com/l/_gZKoblNI7RhZ

27. The equivalent weight of a metal is double
that of oxygen. How many times is the weight
of its oxide greater than the weight of the

metal?

° View Text Solution

28. Fe forms two chlorides, FeCl, and FeCls.
Does Fe have the same value of equivalent

weight in its compounds?

l ° View Text Solution


https://dl.doubtnut.com/l/_gZKoblNI7RhZ
https://dl.doubtnut.com/l/_vlv24jW2aJHP
https://dl.doubtnut.com/l/_YjNZB3oR1LSX

29. 1.80 g of a metal oxide required 833 ml of
hydrogen at N.T.P. to be reduced to its metal.
Find the equivalent weight of the oxide and

the metal.

° View Text Solution

30. 5 g of Zn displaced 4.86 g of Cu from a

copper sulphate solution. If Zn has an


https://dl.doubtnut.com/l/_YjNZB3oR1LSX
https://dl.doubtnut.com/l/_FBAkjUA0HGB3
https://dl.doubtnut.com/l/_8U9qPelNGU7H

equivalent weight of 32.5, find the equivalent

weight of Cu.

o View Text Solution

31.2 g of a metal when dissolved in nitric acid
converted to its nitrate. The nitrate was then
precipitated to 2.66 g of the metal chloride.

Find the equivalent weight of the metal.

o View Text Solution



https://dl.doubtnut.com/l/_8U9qPelNGU7H
https://dl.doubtnut.com/l/_h3yxKw7ElYjh

32. 9.44 g of a metal oxide is formed by the
combination of 5 g of the metal. Calculate

equivalent weight of the metal.

o View Text Solution

33. The equivalent weight of chlorine is 35.5
and the equivalent weight of copper chloride
is 99. Find the formula of copper chloride if

the atomic weight of Cu is 63.5.

o View Text Solution



https://dl.doubtnut.com/l/_fTi2otQgEMA8
https://dl.doubtnut.com/l/_gZgBw9ZEbIWv

34. One litre of oxygen at N.T.P. weight 146 g.
How many litres of oxygen are needed for the
combination of 21 g of Mg whose equivalent

weight 2 mole.

o View Text Solution

Mandatory Exercise Exercise Set li

1. Calculate the mass of the following

sunstances required to prepare 250 mL of


https://dl.doubtnut.com/l/_gZgBw9ZEbIWv
https://dl.doubtnut.com/l/_HaFMFsyWJ6dS
https://dl.doubtnut.com/l/_Z4oQxWz9Ob9A

their decinormal solutions:

Hydrochloric acid

° View Text Solution

2. Calculate the mass of the following
sunstances required to prepare 250 mL of
their decinormal solutions:

Mohr's salt

o View Text Solution



https://dl.doubtnut.com/l/_Z4oQxWz9Ob9A
https://dl.doubtnut.com/l/_ZcDLKfhWYe2D

3. Calculate the normality and molarity of the
following:
04 g of sodium hydroxide in 2 L of the

solution

o View Text Solution

4. Calculate the normality and molarity of the
following:
0.632 g of potassium permanganate in 0.5 L of

the solution

| & I


https://dl.doubtnut.com/l/_AKLGdaSU4vXc
https://dl.doubtnut.com/l/_NxRkVoDmtUDl

| ¥ View Text Solution |

5. As per the equation,

Nay,CO3 + HCl — NaHCO;3 + NaCl, the

equivalent mass of sodium carbonate is

A. 106

B.10.6

C.53

D.53

Answer: A



https://dl.doubtnut.com/l/_NxRkVoDmtUDl
https://dl.doubtnut.com/l/_rdSRIEEfiOox

View Text Solution

6. Define n-factor for:

acid

o View Text Solution

7. Define n-factor for:

base

° View Text Solution



https://dl.doubtnut.com/l/_rdSRIEEfiOox
https://dl.doubtnut.com/l/_1cEGSiRK9WRV
https://dl.doubtnut.com/l/_XIOaJqOFhZZp
https://dl.doubtnut.com/l/_Ml8Z73YxZsTA

8. Define n-factor for:

oxidising agent

o View Text Solution

9. Find the equivalent weight of H3PO, in

following rection

H;PO, + OH~ — HPO.™ + H,0

o View Text Solution



https://dl.doubtnut.com/l/_Ml8Z73YxZsTA
https://dl.doubtnut.com/l/_3DjPcNImWO2m

10. Which of the following have n-factor equal

to one

A. H3 PO,

B. KOH

C. HCl

D. All

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_wLERWcpI0EjG
https://dl.doubtnut.com/l/_QfJi33qkVrXU

11. n-factor of H3BOs; is

A

B.2

C.3

D. None

Answer: A

° View Text Solution

12. n-factor of NaHCQOj5 as a base is


https://dl.doubtnut.com/l/_QfJi33qkVrXU
https://dl.doubtnut.com/l/_xbb2ohHMqVCx

A.O

B.1

C.2

D. None

Answer: B

o View Text Solution

13. One gram of acid CgH1(O4 requires 0.768 g

of KCH for complete neutralisation. How many


https://dl.doubtnut.com/l/_xbb2ohHMqVCx
https://dl.doubtnut.com/l/_x0quOaMQiS1W

neutral sable hydrogen atoms are in this

molecule?

° View Text Solution

14. The salt Nas3PQO, is formed when
othophosphoric acid is reacted with an alkali.
Find the equivalent weight of

orthophosphoric acid.

o View Text Solution



https://dl.doubtnut.com/l/_x0quOaMQiS1W
https://dl.doubtnut.com/l/_rQSMorZ55Zb5

15. The two acids HySO, and H3PQO, are
neutralised separately by the same amount of
an alkali when sulphate and dehydrogen
orthophosphate are formed respectively. Find

the ratio of the masses of

H2504 and H3PO4.

o View Text Solution

16. Find the number of equivalent of H ™

present in 1 mole HyS0;,.

| & I


https://dl.doubtnut.com/l/_va4ry9TKnQw3
https://dl.doubtnut.com/l/_zWNmtfxIZTx9

| ¥ View Text Solution J

17. Why n-factor of H3 PO, is equal to one?

o View Text Solution

Mandatory Exercise Exercise Set lii

1. Calculate the mass of the following
substances required to prepare 250 mL of
their decinormal solutions:

Potassium permanganate


https://dl.doubtnut.com/l/_zWNmtfxIZTx9
https://dl.doubtnut.com/l/_OdbQbeAu2HdN
https://dl.doubtnut.com/l/_KkUT7EwaZBEZ

° View Text Solution

2. Calculate the mass of the following
substances required to prepare 250 mL of
their decinormal solutions:

Sodium hydroxide

o View Text Solution

3. Calculate the normality and molarity of the

following:


https://dl.doubtnut.com/l/_KkUT7EwaZBEZ
https://dl.doubtnut.com/l/_eDCCzM2ULVAC
https://dl.doubtnut.com/l/_bEVNzT8caoil

3.15 g of oxalic acid crystals in 500 mL of the

solution

° View Text Solution

4. Calculate the normality and molarity of the
following:
1.225 g of potassium dichromate in 250 mL of

the solution

o View Text Solution



https://dl.doubtnut.com/l/_bEVNzT8caoil
https://dl.doubtnut.com/l/_h5XxDCX7el5D

5. Calculate the equivalent mass of the
following:
Sulphuric acid, if in 250 mL of 0.1 N solution

1.225 g of sulphuric acid is present.

o View Text Solution

6. Calculate the equivalent mass of the
following:

Sodium carbonate, if in 500 mL of 01 N


https://dl.doubtnut.com/l/_oTSvL5ob4Vk9
https://dl.doubtnut.com/l/_DsaGKPaGXCD1

solution, 265 g of sodium carbonate is

present.

° View Text Solution

7. Calculate the malality of the following:
0.5 g sodium hydroxide dessolved in 500 g of

water

° View Text Solution



https://dl.doubtnut.com/l/_DsaGKPaGXCD1
https://dl.doubtnut.com/l/_5IWcss63GZRS

8. Calculate the malality of the following:

18 g of glucose dissloved in 250 g or water

o View Text Solution

9. Number of equivalents of sodium hydroxide

in 1L of 0.1 N sodium hydroxide solution is

A. 01

B.10

C.100


https://dl.doubtnut.com/l/_wKGApNxy834R
https://dl.doubtnut.com/l/_Na0ul3AsDgBB

D. 0.2

Answer: A

o View Text Solution

10. Which of the following has the highest

normality?

A. 1M H,S0,

B.1M HNO;

C.1M H;PO,


https://dl.doubtnut.com/l/_Na0ul3AsDgBB
https://dl.doubtnut.com/l/_rXAh0oGSd42p

D. both (A) and (B)

Answer: C

° View Text Solution

11. A molal solution is one that contains 1 mole

of a solute in

A. 1000 g of the solvent

B. 1L of the solvent

C.1L of the solution


https://dl.doubtnut.com/l/_rXAh0oGSd42p
https://dl.doubtnut.com/l/_Eyw3gyWoexqx

D.22.4 L of the solution

Answer: A

° View Text Solution

12. 1 mole of each of the following acids is
dissolved in 1 L solution. The acid that does

not give a solution of strength TN is

A. HCI

B. HNO;


https://dl.doubtnut.com/l/_Eyw3gyWoexqx
https://dl.doubtnut.com/l/_er68ymnfybMf

C. H,50,

D. none of these

Answer: C

O View Text Solution

13. Molarity of a solution containing 1 g of

NaOH in 250 mL of its solution is

A. 0.1

B.1


https://dl.doubtnut.com/l/_er68ymnfybMf
https://dl.doubtnut.com/l/_E66pfDEBYp5O

C.0.01

D. 0.001

Answer: A

° View Text Solution

14. Which of the following is independent of

temperature?

A. Molarity

B. molality


https://dl.doubtnut.com/l/_E66pfDEBYp5O
https://dl.doubtnut.com/l/_9ZD5WXE6XWwa

C. Normality

D. All

Answer: B

O View Text Solution

15. Which of the following is independent of

molar mass of solvent?

A. Molarity

B. molality


https://dl.doubtnut.com/l/_9ZD5WXE6XWwa
https://dl.doubtnut.com/l/_ySTUqxvONzbg

C. Normality

D. All

Answer: D

° View Text Solution

16. Normality of HCI solution is 0.1 N. Find the

weight of HCl in 1L solution.

A.365¢g

B.36.5 g


https://dl.doubtnut.com/l/_ySTUqxvONzbg
https://dl.doubtnut.com/l/_PmVknIHPhSI0

C.365g

D.0365g

Answer: C

° View Text Solution

17. Normality of 0.1 M H3 PO, solution is

A. 0.1

B.0.2

C.0.3


https://dl.doubtnut.com/l/_PmVknIHPhSI0
https://dl.doubtnut.com/l/_tkDlXBvsXVP4

D. None

Answer: C

o View Text Solution

18. Calculate molarity of 1.8% (w/w) solution of

glucose.

° View Text Solution



https://dl.doubtnut.com/l/_tkDlXBvsXVP4
https://dl.doubtnut.com/l/_SZGwwlWYGt5u

19. Dissolving 120 g or urea (mol. Wt 60) in

1000 g of water gave a solution of density 1.15

g/ml. The molarity of solution is

A. 178 M

B.20M

C.205M

D.222 M

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_E5CriDtr8DLj

20. The molarity of a urea solution in which

0.01 g of urea (NHy;CONMH,) is added to 0.3

dm? od water at STP is

A.0.555 M

B.5.5 X 10 4 M

C.333 M

D.3.33 x 1072 M

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_wJV7udsZqZaO

21. How many grams of sulphuric acid is to be
dissolved to prepare 200 ml acqueous
solution having concentration of [Hﬂ ions 1
M at 25°C.

A49g

B.196 g

C.98¢g

D.098 g

Answer: C

I o View Text Solution


https://dl.doubtnut.com/l/_K3MJDyKlhM1U

22. What si the molarity of 0.2 N Nay,(CO;3

solution?

A.0O1M

B.OM

C.04 M

D.0.2 M

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_K3MJDyKlhM1U
https://dl.doubtnut.com/l/_vhZy2fTRy1wO

23. Calculate the mnormality of 250 ml
aqueous solution of HyS50, having [I—I+] =1
M.

A.0.25N

B.0.50 N

C.1N

D.2N

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_vhZy2fTRy1wO
https://dl.doubtnut.com/l/_6BQ3mqamkocU

24. What si the total number of moles of

H,50, needed to prepare 50 L of a 20 M

solution of Hy,S0,?

A .25

B.5

C.10

D. 20

Answer: C

I o View Text Solution


https://dl.doubtnut.com/l/_6BQ3mqamkocU
https://dl.doubtnut.com/l/_CsTUVjAVA6i4

25.10 cm? of 0.1 N monobasic acid requires 15

ecm® of sodium hydrogen solution whose

normality is
A. 15N
B.O.15N
C.0.066 N

D.0.66 N

Answer: C

| e |


https://dl.doubtnut.com/l/_CsTUVjAVA6i4
https://dl.doubtnut.com/l/_t7bZyQAKXEnq

| & View Text Solution

26. What is the molarity of pure water?

o View Text Solution

27. The volume of water to be added to 100
cm® of 05 N H,S0, to get decinormal
concentration is.

A. 400 cm3

B. 450 cm?®


https://dl.doubtnut.com/l/_t7bZyQAKXEnq
https://dl.doubtnut.com/l/_rNn0xUZUTPAk
https://dl.doubtnut.com/l/_JlDQMhABAh8I

C. 500 cm®

D. 100 cm3

Answer: A

o View Text Solution

28. The molarity of the solution obtained by

dissolving 2.5 g of NaCl in 100 ml of water is

A.0.00428

B.428


https://dl.doubtnut.com/l/_JlDQMhABAh8I
https://dl.doubtnut.com/l/_XFXB26nHKe6P

C.0428

D. 0.0428

Answer: C

o View Text Solution

29. How many grams of dibasic acid (mol. Wt
200) should be present in 100 ml of the

aqueous solution to give 0.1 N?

A10g


https://dl.doubtnut.com/l/_XFXB26nHKe6P
https://dl.doubtnut.com/l/_TBL7OL7s5Q19

B.20 g

C2g

D.1g

Answer: D

o View Text Solution

30. Which of the following is not true for 0.1 M

Na2003.

A.Na® = 0.2M


https://dl.doubtnut.com/l/_TBL7OL7s5Q19
https://dl.doubtnut.com/l/_AWs3AjvpCr3T

B.CO*~ =0.1M
C.CO;~ = 0.06M

D. All

Answer: C

o View Text Solution

31.480 ml of 1.5 M and 520 ml of 1.2 M solution
of same substance mixed together, molarity of

final solution will be


https://dl.doubtnut.com/l/_AWs3AjvpCr3T
https://dl.doubtnut.com/l/_3knwSF1v0ycY

A 27 M

B.1.35 M

C.1.5M

D.1.2 M

Answer: B

o View Text Solution

32. Molarity of 0.2 N HyBOs is

A.02M


https://dl.doubtnut.com/l/_3knwSF1v0ycY
https://dl.doubtnut.com/l/_OGWc2fV0I4Xm

B.0O.6 M

C.0.06 M

D.0O1 M

Answer: A

o View Text Solution

33. One molar solution means 1 mole of solute

present in

A. 1000 g of solution


https://dl.doubtnut.com/l/_OGWc2fV0I4Xm
https://dl.doubtnut.com/l/_cqY4unJxjlK8

B. 1L of solvent

C.1L of solution

D. 1000 g of solution

Answer: C

o View Text Solution

34. The volume of water to be added to 100 ml
N N
of 7HC’Z to prepare 500 cm”® of T solution

Is


https://dl.doubtnut.com/l/_cqY4unJxjlK8
https://dl.doubtnut.com/l/_tkWm4awXTYRk

A. 450 cm3

B. 100 cm3

C. 45 cm?

D. 400 cm3

Answer: D

o View Text Solution

35. 6.022 x 10° molecules of glucose are
present in 100 ml of the solution. The

concentration of glucose solution is


https://dl.doubtnut.com/l/_tkWm4awXTYRk
https://dl.doubtnut.com/l/_0RJqDSdYe3U1

A.0.001 M

B.0.01 M

C.0.02 M

D.OAM

Answer: B

o View Text Solution

36. The normality of mixture obtained by
mixing 100 ml of 0.2 M H,50,4 4+ 100 ml 0.2 M

NaOH is


https://dl.doubtnut.com/l/_0RJqDSdYe3U1
https://dl.doubtnut.com/l/_BsJ3RJbpFjF8

A.0.2

B. 0.01

C. 0.

D.0.3

Answer: C

° View Text Solution

37. The unit of molarity is

A.mole L~ !


https://dl.doubtnut.com/l/_BsJ3RJbpFjF8
https://dl.doubtnut.com/l/_Hd5jPmIq8eXf

B. mole kg 1

C.mole 1L~ 1

D. mole L

Answer: B

o View Text Solution

38. 1 L of NaOH solution contains 8 g if NaOH.
The approximate concentration of the

solution is


https://dl.doubtnut.com/l/_Hd5jPmIq8eXf
https://dl.doubtnut.com/l/_NmFIOlTPFmSn

A.O1N

10

C.01M

D.0.2 M

Answer: D

o View Text Solution

39. A solution of oxalix acid (COOH), - 2H,0

is prepared by dissolving 0.63 g of the acid in


https://dl.doubtnut.com/l/_NmFIOlTPFmSn
https://dl.doubtnut.com/l/_lCB3WK7owmZs

250 em? of the solution. Calculate (a) molarity

and (b) normality of the solution.

o View Text Solution

40. Commercially available concentrated
hydrochloric acid conatins 38% HCI by mass.
What is the molarity of this solution if the

density is 119 g cm ~°?

o View Text Solution



https://dl.doubtnut.com/l/_lCB3WK7owmZs
https://dl.doubtnut.com/l/_sO4wyoyLQu9t

41. Commercially available concentrated
hydrochloric acid conatins 38% HCI by mass.
What volume of concentrated HCl is required

to make 1.00 L of 0.10 M HCI?

o View Text Solution

42.20 cm® of 1N HCl and 30 em? of 0.5 N HCl
are mmixed together. What will be the

normality of the final solution?

o View Text Solution



https://dl.doubtnut.com/l/_u5BUUoEFqE92
https://dl.doubtnut.com/l/_2hP7QWQo4933

43. Concentrated aqueous H5SO, is 98%
H>50, by mass and has density of 1.84 g
cm 3. What volume of this acid is required to

make 5.0 L of 0.500 M H550, solution?

o View Text Solution

44. Match the following:

&2

° View Text Solution



https://dl.doubtnut.com/l/_2hP7QWQo4933
https://dl.doubtnut.com/l/_VcN9NuSPuJkL
https://dl.doubtnut.com/l/_EDbOg3tOOmgX

Multiple Choice Questions With One Or More

Than One Correct Answer

1. 5 L of 01 M solution of sodium carbonate

contains

A.53 g of NayCO4
B.106 g of NayCO5
C.10.6 g of NayCOs

D.5 x 0? millimoles of NasCO4

Answer: A::D

| oo |


https://dl.doubtnut.com/l/_hkvq0o6fg4Ai

| & View Text Solution

2. 24 g of pure Mg (at amss 24) is dipped in
100 mL of 1 N HCI. What is true?
A.112 L of hydrogen is produced at NTP
B. 0.01 mole of magnesium is left behind
C.01 mole of Mg*" ions is formed in
solution

D. HCl is the limiting reagent

Answer: A::B::D


https://dl.doubtnut.com/l/_hkvq0o6fg4Ai
https://dl.doubtnut.com/l/_L3q0sehLoBp3

o View Text Solution

3. In te reaction
2NCL2S203 + I, — NCLQS406 + 2Nal, the
equivalent mass of Na,S503 (molecular mass

=M) is

A M


https://dl.doubtnut.com/l/_L3q0sehLoBp3
https://dl.doubtnut.com/l/_qOVNYJVVdc2t

Answer: A::C::D

o View Text Solution

4.The mass of Ag x 10° (molecular mass 170)
present in 100 mL of its 0.25 M solution is
A.425g
B.425¢g
C.17¢g

D.1.7 g


https://dl.doubtnut.com/l/_qOVNYJVVdc2t
https://dl.doubtnut.com/l/_yxAoly7wSIdy

Answer: A

o View Text Solution

5. The number of millimoles and
milliequivalents present in 20 mL of 0.2 mole
of Ba(OH), is respectively

A. 4,4

B.2,4

C. 4,8

D. 8,4


https://dl.doubtnut.com/l/_yxAoly7wSIdy
https://dl.doubtnut.com/l/_AcACARHcMRmf

Answer: C

o View Text Solution

Challenging Exercise

1. Calculate the equivalent mass of sulphur

dioxide when it reacts with hydrogen sulphide

to form sulphur and water.

° View Text Solution



https://dl.doubtnut.com/l/_AcACARHcMRmf
https://dl.doubtnut.com/l/_nAD4ysqMwvYi
https://dl.doubtnut.com/l/_5f4qpjzQ1lKo

2. Equivalent mass of a trivalent metal is 16.5.

Find the molecular mass of its chloride.

o View Text Solution

3. The molecular mass of a trivalent metal
oxide is 160. Find the equivalent mass of the

metal in its oxide.

o View Text Solution



https://dl.doubtnut.com/l/_5f4qpjzQ1lKo
https://dl.doubtnut.com/l/_QuySYIQ7VQev

4. The equivalent mass of titanium is 13. Find
the percentage of oxygen in the oxide of

titanium.

o View Text Solution

5. Calculate the number of oxalic acid

molecules in 100 mL of 0.02 N oxalic acid

solution.

o View Text Solution



https://dl.doubtnut.com/l/_Eg4qf6bishEU
https://dl.doubtnut.com/l/_lW0LM6bG7PgF
https://dl.doubtnut.com/l/_yTubjIt24tcO

6. Calculate the molarity and molarity of a 20%
solution (m/m) of hydrochloric acid with a

density of 1.1 g/mL.

o View Text Solution

Olympiad And Ntse Level Exercises

1. 1.0 g of a monpbasic acid when completely

acted upon Mg gave 1301 g of anhydrous Mg

salt. Equivalent weight of acid is


https://dl.doubtnut.com/l/_yTubjIt24tcO
https://dl.doubtnut.com/l/_ce4qARBg0LHd

A.35.54

B.36.54

C.17.77

D. 18.27

Answer: B

o View Text Solution

2. The Mw of a oxide of an element is 44. the
Ew of the element is 14. the atomic weight of

the element is


https://dl.doubtnut.com/l/_ce4qARBg0LHd
https://dl.doubtnut.com/l/_5HVBFCensfdY

A 14

B. 28

C.42

D. 56

Answer: A

o View Text Solution

3. The Ew of H3 POy in the reaction is
Ca(OH), + H3PO, — CaHPO, + 2H,0

(Ca=40,P=31,0=16)


https://dl.doubtnut.com/l/_5HVBFCensfdY
https://dl.doubtnut.com/l/_RmSm154TxuiS

A. 49

B. 98

C.32.66

D.147

Answer: A

° View Text Solution

4. The molarity of H,SO, is 18 M. Its density is

1.8 g mL . Hence, molality is:


https://dl.doubtnut.com/l/_RmSm154TxuiS
https://dl.doubtnut.com/l/_Nxk8rfEPZASJ

A.36

B. 200

C. 500

D. 18

Answer: C

o View Text Solution

5. What is the valency of an element of which
the equivalent weight is 12 and the specific

heat is 0.257


https://dl.doubtnut.com/l/_Nxk8rfEPZASJ
https://dl.doubtnut.com/l/_V2TzMWeRhcYt

Al

B.2

C.3

D. 4

Answer: B

° View Text Solution

6. What weight of a metal of equivalent weight

12 will give 0.475 g of its chloride?


https://dl.doubtnut.com/l/_V2TzMWeRhcYt
https://dl.doubtnut.com/l/_Pt1Yo33IQk91

A.012¢g

B.0.24 g

C.036¢g

D.048 g

Answer: A

o View Text Solution

7. The molality of 1 L solution with xX% H5S0,

is equal to 9. The weight of the solvent


https://dl.doubtnut.com/l/_Pt1Yo33IQk91
https://dl.doubtnut.com/l/_1cxn5cIT9ewE

present in the solution is 910 g. The value of x

IS:

A. 90

B.80.3

C.40.13

D.9

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_1cxn5cIT9ewE

8 Ny, +3Hy, — 2NHj4
Molecular weight of NH; and N, are
x1 and Ty, respctively. Their equivalent

weights are y; and y,, respectively. Then

(y1 — 22) is

2331—.132
A.
(75)

B. (1 — x9)

C. (3$1 — $2)

D. (561 — 32132)

Answer: A


https://dl.doubtnut.com/l/_51NjrQvbnQoV

° View Text Solution

9.36.5% HCI has density equal to 1.20 g mL .

The molarity (M) and molality (m), respectively,

are

A.15.7,15.7

B.12,12

C.15.7,12

D.12,15.7

Answer: D


https://dl.doubtnut.com/l/_51NjrQvbnQoV
https://dl.doubtnut.com/l/_gGpJtDcR8f2Q

° View Text Solution

10. Mole fraction of a solute in an aqueous

solution is 0.2. The molality of the solution will

be

A.13.88

B.1.388

C.0.138

D. 0.0138

Answer: A


https://dl.doubtnut.com/l/_gGpJtDcR8f2Q
https://dl.doubtnut.com/l/_G6Rr1J1FFPFq

o View Text Solution



https://dl.doubtnut.com/l/_G6Rr1J1FFPFq

